



3rd November

$\begin{array}{r} 841 \\ 7 \overline{) 5887} \end{array}$	
---	--

841

$$\frac{3}{5} + \frac{7}{10}$$

$\frac{13}{10} = 1\frac{3}{10}$

Ella and Caitlyn each start with different numbers.

Ella adds 8 to her number.
Caitlyn divided her number by 3.

Ella and Caitlyn both get the same answer.

What numbers could they have started with?

Ella 4
(for example)
Caitlyn 36

Raisins cost 90p for 100 grams.

What is the cost of 450 grams of raisins?

50g cost 45p
450g cost $45 \times 9 = \text{£}4.05$

Dried apricots cost £1.20 for 100 grams.

Leo pays £3 for a bag of dried apricots.

How many grams of dried apricots does he buy?

250g

$\text{£}1.20 - 100\text{g}$
 $\text{£}2.40 - 200\text{g}$
 $60\text{p} - 50\text{g}$
 $250\text{g} - \text{£}3$